2.

(1)L, =842)R,=68(3)M, =172
(b)overestimate

(c)underestimate

(d)M since L is overestimate and R, is underestimate
6.(a)

0.5

-1t ] I I I

2 -1.5 -1 0.5 0 0.5 1
(b) £(-1)=0.3679 f(0)=1 £(1)=0.3679 £(2)=0.0183

f(=1.5)=f(1.5)=0.1054 f(-0.5)= f(0.5)=0.7788
Using right end points:1.7541
Using midpoints:1.7684
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(c) Using right end points with 8 rectangles:1.7612

21.

n—oo

22.

1.4
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T iz 2 .
lim Z— tan— = I“ tan xdx area:from O to 7 /4 under tangent function
= 4n dn 90




(a).j 3dx—hm Z(_

ni- n

(b)j;ﬁdx:’llim 2( —)’ =lim— zl _Lw%[rz(rz;l)} i Y

" n n—oo

23.
(a).[zxjdx—limgzn: 2 5
0 n—eo p ol n
(b)Z:kj=ln(’+lrzj+in4—in2
po 6 2 12 12
()
2&(2iY 20 & 20 & 2¢
x’dx =1lim =1lim I =lim P =lim=—(=n’+—
.[ n%wnz(nj n%wn()lzll n%wn()lzll n%wn (
26.
@P =~rsing » 0=L .+ 4 =nP =L sinZT)
2 n 2 n
. 27
1 27 sin(~ )
(b)hmAn —hmznr sin(==) = lim r* n_r=rrn
n

n—oo Zn'
n



